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i) General Awareness

Which of the following Banks
changed its name to Axis Bank Ltd, ?

(A) HDFC Bank

(B) Lord Krishna Bank
(C) Centurion Bank
(D) UTI Bank

The headquarters of International
Labour Organization is located at

(A) Geneva
(B) Vienna
(C) Zurich
(D) Paris

Which one of the following cities is
nearest to the equator 7

(A} Colombo
(B) Jakarta
(C) Manila

(D) Singapore

The release of which one of the
following into ponds and wells helps
in controlling the mosquitoes ?

(A) Crab

(B) Dogfish

(C) Gambusia fish
(D) Snail

Among the following, which one lays
eggs and does not produce young
ones directly ?

(A) Echidna
(B) Kangarco
(C) Porcupine
(D) Whale

Mixture of which one of the pairs of
gases is cause of occurrence of most
of the explosions in mines ?

(A) Hydrogen and oxygen

(B) Oxygen and acetylene

(C) Methane and air

(D) Carbon dioxide and methane

With which one of the following rivers
is the Omkareshwar Project
associated 7

(A) Chambal
{(B) MNarmada
(C) Tapati
(D) Bhima

During the time of which Mughal
Emperor did the English East India
Company establish its first factory in
India ?

(A) Akbar

(B} Jahangir
(C) Shahjahan
(D) Aurangzeb
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9. Saina Nehwal is India's No. 1 player
in which sport ?
(A) Badminton
(B) Squash
(C) Golf
(D) Swimming

10. The “PAN" in PAN card issued by the
Income Tax Department, stands for

(A) Permanent Account Number
(B) Permanent Audit Number
(C) Permitted Account Number
(D) None of these

11. Who is%he founder of Microsoft
Corporation ?

(A) Ross Perot

(B) MNarayana Moaorthy
(C) Bill Gates

(D) Azim Premii

12. When a person enters a dark room
from bright light, he cannot see
anything clearly for some time. Slowly
he starts seeing things. This is
because the
(A) Length of lens increases
(B) Iris expands
(C) Iris contracts

(D) Distance between the lens and
retina increases

13.

14,

15.

16.

'
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Commercially, sodium bicarbonate is
known as

(A) Washing soda

(B) Baking soda

(C) Bleaching powder
(D} Soda ash

The tip of the match-stick contains
(A) phosphorous pentoxide

(B) white phosphorous

(C) red phosphorous

(D) phosphorous trichloride

Dr. S. Radhakrishnan was the
President of India during

(A) 1952-1957
(B) 1957-1962
(C) 1962-1967
(D) ' Mone of these

Who defined democracy as a
“"Government” of the people, by the
people and for the people” 7

(A) Mahatma Gandhi
(B) Ruskin

(C) Aristotle

(D) Abraham Lincoln
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A) HHFE U2IaaEE
(A) Permanent Account Number @

(B) Permanent Audit Number (B) HHe FFE N
(C) Permitted Account Number (C) e HIEHH
(D) ‘iﬁ#ﬁ?g#f (D) FHHE FANTEE
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(A) 1" Wiz Tregafa o
(B) "REmHfd (A) 1952-1957
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The royal court of Allauddin was
graced by the great poet

(A) Firdausi

(B) Omar Khaiyam

(C) Amir Khusru

(D) Ibn Batuta

In which of the following years was
the first Railways line between
Bombay and Thane laid ?

(A) 1853
(B) 1855
(C) 1857
(D) 1859

CrimeaY now a part of
{A) Poland

(B} Russia

(C) lrag

(D) lran

Who wrote the book, "The Discovery
of India” ?

(A) Mahatma Gandhi
(B) Jawaharlal Nehru
(C) Dr. Rajendra Prasad
(D) Vivekananda

Which is the capital of Jharkhand ?
(A) Ranchi

(B) Jamshedpur

(C) Bokaro

(D) Dhanbad

22.

23.

24.
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Who is to be the next Chief Justice of
India after Justice R.M. Lodha 7

{A) Fathima Beevi
(B) Santhosh Hegde
(C) H.L.Dattu

(D) Mishra

Bharatanatyam originated in
(A) Karnataka

(B) Andhra Pradesh

(C) Tamil Nadu

(D) Kerala

FM stands for

(A) Free Music

(B) Frequency Modulation
{C) Fixed Mode

(D) None of these

signed his last will and
testament on 27" November 1895
bequeathing the lion's share of his
fortune to a series of prizes that came
to be famously known as the Nobel
Prizes.

(A} Alfred Nobel
(B) Albert Nobel
(C) Aldros Nobel
(D) None of these
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- (A) TR
(B) 3 @=m
(C) anfit g
(D) FEagH

18. T dd frg ad o 5= afe el & =
R R G R e e i R
(A) 1853
(B) 1855
(C) 1857
(D) 1859

19.  Thfimn st sggE w2
(A) e
(B) =&
(C) =0
(O) =

20. ‘'z femsall e i’ feame R
fot 7
(A) HETHTIET
(B) SETEL AT E&
(C) =i TSIz vEE
(D) FeEeFAE

21. sMEsH UIgHFA R 7
(A) T

(B) SHYRE
(C) =Rl

(D) ===
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26. Alongwith Dr. S, Radhakrishnanand | 30. Veteran Kathak dancer and
Dr. C.V. Raman was choreographer |, who was

awarded with Bharat Ratna in 1954, TG ety it OLIS Balcarid
Choreography at Malleshwaram in

(A) Jawaharlal Nehru Bangalore passed away recently,
(B) Rajendra Prasad (A) Kshama Rao

- (C) Chakravarli Rajagopalachari (B) Mridula
(D) Mahatma Gandhi (C) Veena Mallik

27. India's most popular film star who (D) Maya Rao

acted in Zanjeer, Sholay, Diwar and

won National Award for Best Actor as 31. Currency of Russia is

early as in 2005 is (A) Ruble

(A) Dilip Kumar (B) Dollar

(B) Dewv Anand (C) Dinar

(C) Amitab Bachchan (D) Rupee

D) ﬁﬂi Kapoor 32. The era of talkie films in India began

in 1931 when the first talkie film

28. Who has recently won the was produced by Ardeshir

championship in the US open tennis

Irani.
tournament by defeating the
Japanese player in the final ? (A} Alam Ara
(A) Nishi Kori (B) Pundalik
(B) Marin Gilic (©) _Res Hghschandm
(C) Nadal (D) Sati Savithri
(D) Federar 33. India's first television centre came
i) into being in September
29. _____envisions abank account In the beginning it was thrice a
for each person in the country. week and was a part of All India
(A) Prime Minister's Empowerment Radio. Only in 1965, first general
Scheme service started from Delhi on a
(B) Prime Minister's Jan-Dhan o i
Scheme (A) 1949
(C) Prime Minister's Bal Vardhan (B) 1855
Scheme (C) 1959
(D) None of these (D) 1982

Ax -10-
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6. I, ud, THEFOR el Hi E#l 1 30. igwet U AdE SN FERE

AT I 1954 H WHd Sl oot 7a T, Sl H e ST Joaie
o1 W QR feRET T | i A1z g werd 2, ger § 3T
(A) SETEEART H86 Fregan
(B) TeIE WEE (A) FHITE
(C) ~wiFafd TsiTerTE) (B) g
(D) T (C) Hom et

(D) WETTE

27,  WitE #l e Teew firam e s=i,
e, el et s R ot | 31 SAAIERR

3i1e € 2005 T waTTy i T (A) T
UTERT R, FE E (B) BFeW i
(A) Feefio g (C) fem
(B) #a Mg (D) =¥
C
(C) wftramg=H 32, e fen g A § 1931 7 Wiy
(D) T HFE BAT 59 el aerTe fhew
28. ¥ vH i 2 wieaifiar # gerd 4 gl il
wrga | SmaHl faenEl S e UL
Siftrrfir f sfidt 7 (B) gsfere
() Ffr= (C) e i
B) e Rfers (0) wefiari
(C) e 33, W o e eyt e faamn
(D) =W i venfta gen |y i ae -
el off fo wrerar o s syraprerETf .
29, w1 eI & o6 49 o & =1 ez a1 | Faw 1965 7 el w9 |
sufat o Ty ush = @ 1 =R | & gell wmr dar foeelt 8 yE e |
(A) ST Hfl EHeEaT greE (A) 1949
(B) QU T SH -4 DS (B) 1955 |
(C) S Hl wve Fe s (C) 1958
| (D) 5 § whig e (D) 1962 '
Ax -11- r
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25

37.

Ax

What is the national flower of India ?
(A)
(B)
(C)
(D)

Rose
Lotus
Lily

Sunflower

Jaundice is a symptom of disease of
(A)
(B}
(C)

Kidney
Liver
Pancreas

(D) Thyroid

In agnosphere, the lowermost

layer is
(A)
(B)
(€)

Troposphere
Exosphere
lonosphere

(D) Stratosphere

During which five-year plan,
Emergency was clamped in India and

new election took place ?
(A) Third
(B) Fourth
(C) Fifth

(D) Sixth

38.

39.

JDD-1 EFHG-FGQ(-‘I?I;
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On April 5, 2014 won the

515! edition of the Femina Miss

India 2014 crown.
(A) Heena Sidhu
(B) Koyal Rana
()

(D)

Parineetha Chopra

Soumya Gupta

Who won the 45" Dada Saheb
Phalke Award and received it from the
President Mr. Pranab Mukherjee on
May 3, 2014 ?

(A)
(B)
(C)

Vishal Bharadwaj
Sampooran Singh Kalra
Amitab Bachchan

(D) Sharookh Khan

Which country won 2014 FIFA World
Cup ?

(A) Brazil
(B) Argentina

(C) Mhaly

(D) Germany
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sate, 2014k RT3

i % 51 & Te | i 2l
2014 =1 Ttz sfian |

(A) g

(B) == TN

() ftfore =ter

(D) @I

T 45 T 2TaT TR et JTEHR S
ST FE Tl Wi st o el 3
2014 1 9re fa 7

(A) fosmet yrE

(B) EEgLul e e

(C) sferamy a=m

(D) YIEEE @M

2014 Eﬁrﬁ#m (FIFA) farva = fomm 2
3 st 7

(A) FEE

(B) 3Fsifen
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ii) General Intelligence and Reasoning Ability

Big is related to Small in the same way

as Thick is related to
(A) Broad
(B) Long
(C) Thin

(D) Tear

If the first and the third letter in the
word CONGREGATION were
interchanged, also the second and
the fourth letter, the fifth and the
seventh letter and so on, which
lettgr would be the eighth counting
from your left ?

(A) R
B) E
c T
(D) G

Two of the following four have the
same meaning, which of the
remaining two would appear earlier
in a dictionary ?

(&) climate
(B)
(C)

(D) weather

impose

implore

44,

45.

48.

If Shirish is taller than Charu but
shorter than Raju, and Charu is just
as tall as Dilip but taller than Ashok,
then Dilip is

(A)
(B)
(C)
(D)

Just as tall as Shirish
Shorter than Shirish
Shorter than Charu

Taller than Raju

LT g )

If“4+" means “x", “~" means "+ ", "x
means “+", “:" means “-", then
(18 +10x20)—-8 + 6=7

(A) 35
(By 92
(C) 26
(D) 19
How many 6's are there in the

following sequence which are
followed by 3 and preceded by 8 7

748632718689813689786
3136843234

(A) 2
(B) 3
(C) 4

@ 5
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v 7 i) T e A Aiehes ARl
41. T v w1 W wie A e | 44, ol e amd SR wim o
HR HiZr w5 gEE ? A1er & si e feefiv & e & S 2
(A) = ARF aTeiter @ S R, W e ®
B) = (ay Torfos & foraen €1 3=
(B) frfy T
(C) gae
(C) =% H el
(D) Wi ;s
(D) TFH S
42. CONGREGATION ¥ise 5l ¥fe waetl 45. aft o TR K R, 0 A
3fit i s1eR SFrerTREfia #d 8 31N

uon R o WA U B, S

mm@nﬁﬁmﬂm,ﬁﬁmﬁt 1 T %,?ﬁ

ST AR TR A e it oo 18 + 10 zr:: ~8:6="

vl 3 & gt e e o et (15 el i B S

FrEra ? (A)29

A R (B) 92
(C) 26

(B) E

s (D) 19

©) G 46. T Juen 4 0@ et 6 & Fowe e
3R M EABE ?

43, et o 2 arel wR & el S A 748632718689813689786 '
H greaehiel # i TEe TS 7 y

3136843234 !
(A) climate A) 2 N
(B) impose (B) 3

| | (C) implore (C) 4 |
(D) weather (D) 5
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i 47. In a cerlain code language, “pic vic 50. In acertain code, PRAMOD is
L nic” means “winter is cold”, “to nic re” written as DOMARP. How is
;] means “summer is hot”, “vic tho pa" KESHAV written in that code 7
| means “nights are cold", "re pic boo” (A) LFTIBW
means “winter and summer”, which (B) JDRGZU
qw-::rcl in that language represents (C) VAHSEK
“summer” 7
(D) VASHEK
(A) nic
(B) re 51. Anthropologists are related to
©) pic Mankind, in the same way as
Ornithologists are related to
(D) to
(A) Animals
48. Ifitis possible to make a meaningful (B) Birds
word with the second, third, fourth, (C) Minerals
fifth, shth and seventh letter of the (D) Insects
word PERSONALITY, write the last
letter of that word. Directions (Qs. 52— 54) : Three of the given
(A) R four are alike in a certain way and form a
® S group. Which is the one that does not belong
to that group ?
() N
(D) A §2. (A) Tank
- (B) Pond
49. Ina certain code, MONKED is written
(C) Pool
as OQPMGF, how could TIGER be _
written in that code ? () 1 Bwzar
| (A) VKIGT 53. (A) Rupee
| (B) UJHFS (B) Coffee
(C) SHFDQ (C) Dinar
: | S (D) QDFHS (D) Dollar
I Ax 16
o
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47. v fifrea g2 v § e fae e

48.

49,

EDR-CE C AN C T b oot A T A
# waea wwmss s, Ewaw’
F1 Hada | AeH AR wies | AR
“Ufr e Faea ® A sl En
2, su gz A wa % e A
7ed § 7

(A) e

B) t

(C) T

L) =

PERSONALNTY 155 & g&, o,
=9, uad, B S arad el § i
a1ofquf yree T ST HeRT @ Gl 36 WIsE
=1 sl st fafla |

(A) R
B) S
(C) N
(D) A

us: Fifvaa 32 § MONKED =t
OQPMGF for@ s &, o 38 e o
TIGER =t ot foran =mar 2

(A) VKIGT
(B) UJHFS
(C) SHFDQ
(D) QDFHS

JDD-12/HC-FG/X-14

50. w fifeem 2 § PRAMOD 1

51.

DOMARP fefat s 8, &t 39 %2 d
KESHAV = &8 fordn 7

(A} LFTIBW
(B) JDRGZU
(C) VAHSEK
(D) VASHEK

1 Anthropologist &1 Hsi# THE ~STfd
¥ 2, 361 w1 Ornithologist #1 HH4 &
(A) w9

(B) ueft

(c) wfms

(D) *e

g (9. %. 52— 54) ;=i | | i, vk Tl
TE H UH 9§ S U UF TR S 2 |
o2 I 2 S O ¥ wrerfa e g

52. (A) e

(B) T

(C) FT=
(D) &t

(A) E9T
(B) =
() f&m
(D) Eier




56.

57.

Ax

(A) Rectangle
(B) Square
(C) Sphere
(D) Rhombus

B is the brother of C, Mis the sister of B,
P is the brother of N, N is the daughter
of C, S is the father of M. Who is the

uncleof P ?
(A) B
B) M
(C) S
o c

‘W is in ‘honest’ in the same way as
‘b is in

(A) border

(B) rub

(C) doubt

(D) plumber

Which of the following will come
next in the series below ?

shg, rif, gje, pkd, ?
(A) olc

(B) omc

(C) olb

(D) oke

-18-

58.

59,

60.

JDD-1 2J'HC-F%D(-14

Raju ranks thirty-first in a class of
sixty-one. What is his rank from the

last ?
(A) 30
(B) 31
(c) 17

o) 21

Six players are sitting in a row. Ais
sitting between K and M. K is sitting
next to P, P is sitting nextto Y. Y is
sitting on the extreme left, Q is sitting
nextto M. Who s sitting adjacent to K 7
(A) QandA

(B) MandQ

(C) PandA

(D) YandP

If 5566 = 22, 1753 = 16, 3624 = 15,
7254 =7

(A) 15
(B) 16
{cy 17

(D) 18




%t JDD-12/HC-FG/X-14

54. (A) 144 58. S ohl 9ETTE H T3] = ST geheE ¢ | A
(B) = STl & FeeR1 ik T R 7
(C) =g (A) 30
(D) FHIgH ®) 31

55. B¥E C & WE 8, M 38 B il 587 &, ) 17

P48 N & 9§ 2, N 78 C 1 gft 2,

(D) 21
STEME T | PHaT R E 2
(A) B 59. DE el tmrwand a2 &) AmE K
B) M IMFdaANR| KT P ¥ am "
C) s 4318 | PERY H AW AR | Y= Al
(D) C Hi s o1 @ ot Q 7@ M % s

4
HTE | KF g Fm da1 2 2
56, 58 W1 ‘W' 4% ‘honest’ # & 3¢t UK

e (A) Q3fmA
(A) border (B) M3MmQ
(B) rub (C) PaRA
(C) doubt (D) Yamp
(D) plumber '
60. afu5566 =22, 1753 = 16, 3624 = 15, L
; ?
57. Fam s s wy B % Hisass 5
shg, rif, gje, pkd, ? '
(A) 15
(A) olc
(B) 16
(B) ome
| (C) olb i 1
(D) oke (D) 18
Ax 19-

el
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Directions (Qs. 61 — 63) : From the given Directions (Qs. 64— 68) : Choose the correct

alternatives select the word which cannot be alternative from the given ones that will
complete the series.

formed using the letters of the given word.

9
B1. INTELLIGENCE 64. UYZ TYZ SYZ RYZ, 7

A) XYZ
(A) GENTLE (A X
l ' (B) QYZ
: (B) INCITE
(C) RYZ
(C) CANCEL
| (D) TYZ
(D) NEGLECT
|
62. DECOMPOSITION 85. AZ CX EV, GT,?
i (A) COMPOSE (A) IR
| (B) ECONOMIST (B) MN
| (C) POSITION ©) Rl
(D) DOCTOR (D) HR

63. DISAPPOINTMENT
66. 5,18,29,61,7

(A) TENSION
(A) 145
' (B) ATTEND
} (B) 251
(C) OINTMENT
(C) 125
o (D) SAMPLE
§ | (D) 111
1 3_ I
] | A -20-
¥




% JDD-12/HC-FG/X-14

v (9. . 61 - 63): Fim Rt d & v | Fdw (9.6, 64 - 68) : en Wi w1 & feg

wie R S o 7 1 6 e A FH N | £y 1y e @ et vy G |
o Hehdl |

64. UYZ TYZ SYZ RYZ ?

61. INTELLIGENCE

(A) GENTLE 5
(B) INCITE il <&
(C) CANCEL ki
| (D) NEGLECT B

! 65. AZ, CX,EV,GT,?
62. DECOMPOSITION

(A) COMPOSE (A) IR
(B) ECONOMIST (B) MN
(Cy POSITION (C) RI
(D) DOCTOR (D) HR

3
63. DISAPPOINTMENT 66. 5,13,29,61,7

(A) TENSION (A) 145
| ©) ATTEND ®) 251
(C) OINTMENT (C) 125
(D) SAMPLE (D) 111

A= -
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i ﬂ Hi% 67, 13,10,7,100,1008,1000,10003,7 | 71. (A) BIHAR
-:',','-! ' fi. "_'.-_.,
b 'L%, (A) 130 (B) HARYANA
| W
; o= (C) RAJASTHAN
(B) 1030
(D) VARANASI
= {C) 1130
(D) 103 72. (A) JASMINE
(B) POTATO
68. EFA, GHC, JE,? (C) ROSE
(A) KDA (D) LOTUS
(B) JKG Directions (Qs. 73 & 74) : Select the missing
(C) KLG number from the given responses.
{lﬁ HIF i T A S
y - 2 B
Directions (Qs. 69— 72) : Find the odd word s Bz B
from the given alternatives. 30 32 31 7
69. (A) YELLOW (9
(B) 15
(B} ORANGE (C) 80
(C) PRAYER - (D) 02
(D) RED 74. 25 18 35 43
16 11+ 21 65
70. (A) CLEAN g 7 A4 ?
(B) CLOWN (A) 12
B 9
(C) BUFFOON
(C) 8
(D) JESTER (D) 18

A




»

67. 13,10, 7, 100, 1003, 1000, 10003, ?

(A) 130
(B) . 1030
(C) 1130

(D) 103

68, EFA, GHC, UE, ?
(A) KDA
(B) JKG
(C) KLG -
(D) HIF

P (9.3 69 - 72) : Tt Rreponit 3 @ firsy
T&% i qEEIf |

69. (A) dien
(B) =t
(C) sk
(D) &

70. (A) ==
(B) ferg
(C) wis
(D) mEEw
Ax

71. (A) faen

(B) &fzmm

JDD-12/HC-FG/X-14

(C) Trsreere
(D) amEmE)

72. (A) TR
(B) 3ATe],

(C) e
(D) #aa

T (9.5, 73 & 74) : 28 13 3=i @ s
T o1 =4 e |

i3 4
7

30

(A)
(B)
(C)
(D)

74, 25
16

(A)
(B}
(©)
(D)

22 < o Y

32

18
T
80
02

=d
-3 Ga M th

31

35 43
21 35
14

]




75. Peter is taller than Harry who is
shorter than Susheel. Niza is laller
than Herman but shorter than Harry.

Susheel is shorter than Peter. Who is
the shortest 7

- A
(B)
(C)
(B)

Peter
Herman
Harry
Niza
76. ‘A and ‘B start from their same office
and walk in opposite directions each
travelling 10 kms. ‘A’ then turns left
and walks 10 kms. ‘B’ turns right and
walks 10 kms. How far are they now
from each other ?

(A) 20 kms {B) 10kms

(C) Skms (D) Bkms

77. Certain numbers have letters as given

below :
1 258456 7 88 0
EADCPRQSTM

What is the number indicated by these
letters 7

PAQMC
(A)
(B)
(C)

52740
52704
57204

52407

(D)

JDD-12/HC-FGfX-1

Directions (Qs. 78 — 80) : Study the
information below and answer the given
questions :

A BC D E F G H are sitting in a circle not
necessarily in the same order. Four of them
are facing outside and four of them are
facing the center. E faces outside, both the
immediate neighbours of E face the center.
H sits second to the right of E, B sits third to
the left of E. D faces the center. Both the
immediate neighbours of D face outsides.
G sits second to the left of A. B sits third to
the right of H. F is an immediate neighbour
of D. C is an immediate neighbour of G.
D is not an immediate neighbour of B.

78. \Who sits third to the right of A ?

(A) D (B) E
€ F (0) A
79. How many are seated between A an
C (counting clockwise from A) 7
(A) Two
(B) Four
(C) One
(D) None
80. Who sits exactly between F and C 7
(A) E (B) B
(C) G (D) A




75. dierae E0H S Wi gl A e e |
fenar el d S abm et g T
gufter gz et & 721 8 | g=d e
FHE?

(A) de
(B) =
(C) =
(D) fsm

76. ‘A 3 ‘B ¥ wel HifRw ¥ e
w1 faeg el d s Ry =
1ﬂ%.ﬂ.:lﬁﬁ%l‘h‘ﬂﬁﬁaﬁa:ﬁt
2 10 R0, S ® | Brared g

10 For o1, T # | 9 9 TE G H
EGERC IR

(A) 20 T

(€) 5 ferah. (D) 8 et

77. % w5y Y oian foh w e
1234567890
BADCPRQSTM
39 SAeRl Rl 2T ol e e d 2
PAQMC

(A) 52740
(B) 52704
(C) 57204

(D} 52407
Ax

@) 10 Ff.

JDD-12/HC-FG/X-14

Frdw (o.%. 78 — 80) : FF F=1 1 rEAEA
#hifem afre fodt ) vl & s i

ABCDEF G H¥e Jurhr o3 &, 78 1%
78 # ww @ o A8 E | 9w A A e
wfoga § o wn #g o oin sifige 2 |
E wiTet <l 371 2@l &, 36 it % a1 TS
%z 6 A 2@ @ ¥ Hw E & afedl &
T %, B9 E o el i el s wae g |
D & %5 i A1 sHfivga & | D & i 2
verd et i A 3E ® B | G 98 A ® ar
3T 5o AT T A3 R | B R H 3 2fel 311
et smre W e ® | FUe D o e weii € |
CHEGH gaTeHl 2| D% BH @
Tt e 2 |

78. Awaifed st o =me 2
(A) D (B) E

(€ F

79. AR CH o= d fpad 42 E (A &

D) A

80, F3MCH I Smdaswaaaz?
(A) E (B) B

(€ G D) A




-

81.

82.

83.

84,

A

JDD-12MHC-FEL1s

iii) Arithmetical and Numerical Ability

50% of /2116 + 0.01=2
(A) 23

(B) 230

(C) 460

(D) 2300

98198 - 2x2="7
(A) 9600
(B) 9800
(C) 9822
Y 9400

The ratio of the ages of A and B is
2 - 7. Five years ago, age of B was
six times that of A. What is the present
ageof A7

(A) 5 years

(B) 10vyears

(C) 15years

(D) 20vyears

How many diagonals can be drawn
in a Hexagon ?

(A) 10

(B) 8

(€ 9

(D) 11

85.

87.

In a basket, all but 10 are Lotuses, all
but 10 are Roses, all but 10 are
Champaks. How many flowers are
there in all in the basket 7

(A) 20
(B) 25
(C) 30

(D) 15

The area of a circle is 616 sq. cm. Find

its circumference.
() 44cm
(B) 8Bcm
(C) 66cm

(D) 22cm

The perimeter of a rectangle with
length 16 cm is 56 cm. Find the lengiil
of the largest straight line that can be

drawn in it.
(A) 20cm
(B)y 1Bcm

(C) 19cm

(D) 22cm




Pﬂ_____

%ﬁ JDD-12/HC-FG/X-14

iii) SteTTuTe US HETTHe Al
81. +2116 +0.01 H150% = ? g85. U T 8 10 i B wft we § 10
(A) 23 1 Bre wsfl e €, 10 Sig gyl =
®) 230 &, ot 2t A e w1 €2
(C) 460 (A} 20
(D) 2300 (B) 25
B2. 98x98-2x2=7 ({C) 30
| (A) 9600 ) 15
(B) 9800
86. U ge = Frme16a &, f. 8 |30
(C) 9822 i
©) 9400"
(A) 44 .
83. A 3N B ¥ IR H U@ 2: 7 8 1919
w1l veel B 3w A 9 I E TE I (8) 8s¥ .
off | Al A I FR ? © eod .
A) 5HE
2 (D) 22d..
(B) 104
(©) 159 87. 16 @3, wvans & v sia @ 9fif
56 @ .11, 2 | 3@ figsh sl d=e |
| (D) 20T
| Hﬁ‘?!ﬁﬁﬂﬁ@ﬁmﬁw%? -
84. UshWEY[SIH fohan forar] Effel < Hehd € 7
T : (A) 20¥ i 3
(A) 10
(8) 184 .1t
(8) 8
©) 9 (C) 19#..
(D) 11 (D) 22¢.H.
Ax 27-
I'




B9.

90.

91.

Ax

The area of a rhombus is 96 sq. cm.
Length of one of its diagonals is 16 cm.
The perimeter of this rhombus is

(A) 100cm

(B) 90cm

(C)y 40cm

(D) 60cm

If the selling price of 10 articles is

equal to the cost price of 12 such
articles, find the percentage of profit.

(A) 25%
@] 20%
(C) 30%
(D) 15%
When an article is sold, there is 10%
loss. If the selling price of this article

is increased by ¥ 50 there will be a
profit of 15%. Find its cost price.

(A) %200
(B) ¥ 250
(C) 150
(D) 300

ap=58,2B=7C,A:C=7
(A) 3:7
B 7:2
(C) 35:86
o 6:7

-28-

92.

93.

JDD-12/HC-LrX-1!

in A ABC, \AB(,‘: is a right angle.
|a :lc=1:2 A =7
(A) 60°
() 30°
(C) 45°
(D) 35°
Raju walks 70 m 10 the South. From
there he walks 30 mto the East, then

again walks 110 m towards North.
Now how far is he from his starting

point ?

(A) 60m

(B) 50m

(C) 70m

(D) B65m

Four metal rods of lengths 78
104 em, 117 cm and 169 cm are 1
be cut into parts of equal length
Each part must be as long a

possible. What is the maximu
number of pieces that can becut?

(A) 27
(B) 36
(©) 43

(D) 480




88.

Ax

88.

90.

91.

s wEg s 1 e 96 = H 1. 7|
ST U faeRnt 16 €., T #R |
=g aag o e 2

(A) 100441
(B) 90 ..
(C) 40%H ..
(D) 60% 1.
a1f 10 el %1 s -Ted 12 FEgH

5 SN~ ToreT &, AT =0 i
a1 i |

(A)
(B) 20%

4
(C) 30%
(D) 15%

25%

Uk g A= W 10% T HE A 2 |
Ifz 35 T % FEFT-ged ¥ 504 ToM
ST &, e 15% 31 AT Bral & | 3Eeht
AT -Hed el I |

(A)
(B)
(C)
(D)

T 200
% 250
1150
¥ 300

7f23A=5B,2B=7CR@A:C=7
(A) 3:7
BY: T2
(C) 35:6
D) 6:7

92.

93.

94.

JDD-12/HC-FG/X-14

A ABCH |ABC #WHIUIE | |A :[C =
128,/ A =2

(A) 60°

(B)
(C)

307
45°
(D) 35°

T 2fen st ST 70 HY, T | T @
g yd 1 3t 80 i, = B | 6w
It sl 31 110 1. I 8 | 3
s g 8 et gL 2

(A) B0
(B)
(C)

(D)

50 Hi.
70 i,
65,

78 .., 104 T, 117 @M. 3R
169 & Y. I =t = Hg = e |
38 THT TS % Zohel H el § |8
Zohel 1 © a1 e gl SRy |
srferaran foreet goRe 12 <11 8o & 7

(A) 27
(B) 36
(C) 43

(D) 480




95.

96.

a7,

98.

Ax

J7-8=12
(A) 441
B) 24
(C) 484
(D) 44

Find the greatest number which when
divides 590, 908 and 1014 leaves the
same remainder each time.

(A) 160

(B) 150

(c)y 110

Q) 106

What is the least number which when
decreased by 518 divisible by 15, 12,
107

(A) 205

(B) 185

(C) 165

(D) 195

Four bells are ringing at intervals of
12,16, 24 and 36 minutes. They start
ringing simultaneously at 12 O'clock.
Find when will they again ring
together.

(A) 1.30p.m.
(B) 2.15p.m.
(C) 224p.m.
(D) 2.44p.m.

99.

100.

101.

JDD-12/HC-F G- 14

in A ABC, |A =70% If | is the |
incentre, find |BIC .

(A) 125°

(B) 135°

() 100°

(Dy 110°

in A ABC, |A=85". K g is the
circumecentre, BSC =7

(A) 120°
(8) 130°
(C) 125°

(Dy 115°

A rectangular solid of metal has
dimensions 50 cm, g4 cm and 72 cim.
It is melted and recast into identical
cubes each with edge 4 cm. Find th

number of cubes farmed.

(A) 3600

(B) 3000

(C) 360

(D) 300




IJI.

%55

95.

96.

97.

98.

Ax

J7-8=18
(A) 441
(8) 24
(C). 484
(D) 44

ﬁmmﬁwﬁmaﬁﬁ%,ﬁﬂﬁﬁsu,
908 3717 1014 &1 AT B R ST I
AR EAT R ¢

(A) 160
(8) 150
(C) 110
(D) 106 "
Rkt s e e ¥, B 58 &9
A AR5, 12, 108 wefisrad 7
(A) 205
(B) 185
(C) 165

(D) 195
= =it 12, 18, 24 i a6 TRl *
Sie & w B T 12 ¥ O A

o e @ § | e e e R
& el T AT i |

(A) 1.308MT&
(B) 2.153MT&
(C) 2.243M&
(D) 24439

31-

98.

100.

101.

JDD-12/HC-FG/X-14

A ABC #, |A = 70° ®| AR | 98
s 3, T | Bic T AR

(A) 125°

(B) 135°

(c) 100°

(D) 110°

A ABC #, |A=65°%) af% S ¥®
s 2, @ | BSC =7

(A) 120°

(B) 130°

(C) 125°

(D) 115°

ﬁma‘mmqﬁmaﬂﬁﬂ,
gad o, 728 . B |8 TS
3 s g e 4 8 A, FER O
mﬁqﬁaﬁmmﬁlﬁﬁﬁmaﬁ
AT ST HFA ©

(A) 3600
(B) 3000
(C) 360

(D) 300




102, Sum of the interior angles of a regular

polygon is 24 right angles. Find the
number of sides of the polygon.

(A) 14
B) 12
(C) 10
(D) 15

103. Two unbiased dice with numbers
1 to 6 on their faces are tossed
simultaneously. What is the
probability of the appearance of same

numbers on their top ?

1%
A 3

M

18 s

-
w

(C)

il o=

(D)

104, Face value of a share is T 100. Its
market value is ¥ 110. Rate of dividend
is 10% per annum. If a man invests
7 58.300 in this share, how much
dividend does he get in that year ?

(A} 5,000
(B) 5,500
(C) 5,300
(D) % 3,000

105.

106.

107.

JDD-12/HC- Fﬁd 4

Find the sum of all natural numbers

from 1 to 20.
(A) 210
(B) 200
(C) 110

(D) 250

How many three digit numbers can
be formed from the digits 5,7,4, 3,8

withoul repetition 7
(A) 10
(B) 30
(C) 50

(D) 80

How much of money is to be
deposited to get an annual interest of
¥ 2,500 at 5% simple interest 7
(A) ¥5,000

(B) %50,000

(C) ¥10,000

(D) None of these



103.

104.

} %ﬂﬁuﬁaw%mﬁﬁm

SI1g 24 69 1 § | Ryt i Sl 6
HEAT 9a hifor |

(A) 14

(B) 12

(€) 10

(D) 15

18 6 7o =ifed < Frover i =1 v
1Y IS ST 8 ) U S 51 g
T 9T AT o e R 7

1
(A 3
B = o

_—

(C)

(D)

o |

U Y o Sifehd 9o T 100 % | 3
TSR Hedl 110 8 | efmaie ufen 10
fd ad g1 & 8 | afe v =fe o g o
% 58,300 freer = 2, ) 39 a4 34
foerm e i 7

(A) %5,000
(B) %5,500
(C) 5,300
(D) ¥3,000

105.

106.

107.

JDD-12/HC-FG/X-14

134 20 gt Tl Hemsiw Ee
el hifs |

(A) 210
(B) 200
(€) 110

(D) 250

5 7, 4,3, 8 % JAF &, 7 Stgwd
T, fobereft oft sferraedt deend s an
et § 7

(A) 10
(B) 30
(C) 50

(D) 60

5% WS STl W HIAHT T 2,500 47
foreret =k fere foperft ot Fiam s w2t 7

(A) 25,000

(B) 50,000

(C) ¥10,000

(D) &HE =g 7




JAl

108.

108.

110.

111.

Ax

Find the medianof 3,2,5,1,2, 4,9,
8, 6.
(A)
(B)
(C)

N | N

@) 1

2%+5 0 -
If 4

{5 2V g =2
2|7 |4 8| Tlo" 219

(A) 3
(B) 4
L]
(Cy 0
(D) -1

If J200 =14.14, J2 =7
(A) 1.07

(B) 0.1414

(C) 1.414

(D) 1.2

J2, U3, 44, %eo among these,
which one has the least value 7

Ay Yoo
B) ¥z
(C) 42
(D) 4/4

112.

113.

114,

JDD-12/HC-FG/X-14

g

Out of 64 candidates who have
passed at least in one subject in a
combined test in English and Hindi,
45 passed in English and 52 passed
in Hindi. How many have passed in
both the subjects ?

(A) 12
(B) 19
(C) 33
(D) 35

A car covers a distance of 60 km in
40 minutes. Find the speed of the

car in km/hr.

(A) 70 km/hr
(B) 90km/hr
{C) 80km/hr
(D) 75 km/hr

Dinesh goes from station P to station Q.
at the speed of 40 km/hr and returns
from station Q to station P at the
speed of 60 km/hr. Find his average
speed for the whole journey.
(A) 50 km/hr
(B) 45 km/hr
(C) 52 km/hr

(D) 48 ke/hr



iy

108.

109.

110.

111.

Ax

3,2,5,1,2 4,9, 8, 6% qiiegs var
#ifsr |
(A) 3
B) 2
(C) 4
D) 1

] R M e Y
?ﬁx?ﬂtﬁﬁ%
(A) 8
(B) 4
(C) 0
L |
0) -1
aft 200 =14.142, 7 2 =2
(A) 1.07
(B) 0.1414
(C) 1.414
(D) 1.2

V2, ¥3, 44, Y60 T ~Een A
a2

(A)
(B)
(C)
(D)

SRS

112.

113,

114,

JDD-12/HC-FG/X-14

sttt R few<h o) wregere i # 64 T
e & 51 0 8 & o g i
B, 37 45 37ef o af 52 R
qrH §CE | oo Iiean 21 fawet o
THELE 7

(A) 12

(B) 19

(C) 33

(D) 35

TFFR 60 T i gft 40 T of
FA R | T HR B B e

qa1 shifere |

(A) 70 .o, /e
(B) 9o fFft, faue
(C) 80fF i, faver
(D) 75TF.1M, /fave

T P wewm & Q R a0 e aft, fvy
i B e ® 39 ool 99 Q By
P %¥H @ 60 f. ), faver ey & sman
8 | wH % e o siwe 1fy oan
it |

(A) 50T, /quer

(B) 45T, /eva

(C) 52Tt /mver

(D) 48T, f5oar




115.

116.

E1E:

Eight men can dig a field in 14 days
by working 6 hours a day. In how
many days can ¥ men dig the same

field, by working 8 hours a day 7

(A) 12 days
(B) 12.5 days
(C) 14 days

(D) 10 days

éo-[5-{s.-2(? 8-5)}] =7
4

(A) 27

(B) 28

(C) 29

(D) 30

What is the difference between the
compound interest and simple interest
for ¥ 70,000 for 2 years at 10% ?

(A) T 700

(B) % B50

(C) T 750

(D) none of these

118.

119.

120.

JDD-12/HC-FG/¥-14

%
Find the HCF of % g and %

@

(B) 12

© 2

© 2

The cloth shop has announced a
reduction in price by 25%. How many
Kurtas priced at ¥ 28 should one buy
to avail a total reduction of at least
T407

(A) 6
(B) 5
() 10
(D) 7

The angles of a quadrilateral are in
arithmetic progression. The smallest

angle is 75° Find the largest angle.
(A) 100°
(B) 115°
(C) 105°

{0y 110°



B

e —

Eda,

115.

116.

1L

T3 TEH] U e 7 GaTs I 6 =
i FRam a4 A gmaas |
@t wm 7 rrert Wi e 8 =ver A
e Rt foit o gmen s waRd € 7

(a) 12
(B) 12.5%F
(©) 1af=
(D) 10T

20-[s-{ova(7-575)] =7

73 0 Sl
(B) 28
(C) 29

(D) 30

7 70,000 Tf91 7T 2 =t & ferw 10% ==
A wFAlE = 3l TR s § fea

A7
(A} % 700

(B) %650

(C) %750
(D) o & wis e

119.

120.
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2
%+ g af‘r(a =1 T=EUE (HCF) et

A =
(B)
(C)
(©)

U FUE & e i °H 25% Ferdl
Framon i g | T 289 9 e Tl
wite vt a3t ¥ 40 i 7e o
Tl 8 7

(A) 6
(B) 5
(€) 10

D)y 7

o T F FvEmew A A E | afe
AN ol 75° 8, it S Ho E

(A) 100°
(B) 115°
(C) 105°

(D) 110°
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121.

122.

123.

124.

(B) =
(C)
(D) =

e
(A) e
(B) @
() uHl
(D) iR

W 125 — 127 ; 9 B T wredi il Agae

iv) Test of Language : Hindi
s afteror : fewd

U 121 — 124 ; HTdE 41 EET e H

w1 fafiad |

125.

126.

127.

T 128 — 130 ; 4 Ta2 7 vt 1 gEd

SreATIaERT

(A) SrenfiErnd

(B) 3EATTH
(C) areaTiies

(D) FHEAER

Tfgan

(A) T
(8) Tfeur
(C) Tfeaf
(D) e
LIS

(A) TR
(B) et

(c) awit

(D) el

= fafiE |

128.

ECt

(A) e
(B) Fart
(C) =@M
(D) =

JDD-12/HC-FC/X-14
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" 130,

131.

142,

(A) TN
(B) TGN
(C) i
(D) T

sARAT_ g
(A) T

(B) e ST

(C) rETE T

(D) TEEH
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134.

135.

136.
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138.

13%.

140,

A
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N - (€) e 150, T
|' : (D) e (& o5
l (B) T
1 146, fa=E (C) LA
'I W (D) TLF
\ () foremfara 151, T
(©) Formmftrer® (n) et
D) Forer (B) feramelia
(C) Teremaret
147. Hfd (D) o=
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+fim, 37, T, WEed |

gi=l TR TS ROErE § ST -3 S
di@d 9| i e =wwe # wg T A 3R
TS O A e A
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154. TiEd Fqd|
(A) =M
(B) g
(C) i
(D) I
LIECH |
(A)
(C) U

155.
(B) =W
D)

156.

157.

158.
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Jea e E _ Hied 4
(A) ST T

(B) G

(C) i

(D) e

st A o T & el
Q9] A AT |

(B) W&
(D) U

(A) @
(C) =@m
i i SR N G |
e = |
(A) =
(B) %
(C) dEwa
(D) i

997159 &160 : 151 33 ma wreet = wdt foeim
T R ferfat |

159.

160.

LEEE
(A) HIsH (B)

(C) T

EL

i
(0} 3F

(A) 315"
(B) Teem
(C) W=HE

(D) ¥
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v) Test of Language : English

WIS UHTETT ¢ 3T
Directions (Qs. 166 — 170) : Choose the

Directions (Qs. 161 — 165) : Read each
sentence to find out whether there is any
grammatical error or idiomatic error in it. The
error, if any, will be in one part of the
senfence. The number of that part is the
answer. If there is no error, the answer is {D).

'_161.

162.

163.

164.

165.

School children, who so far have had
rationed access to (A)/the few
playgrounds on the city, must be (B)/
happy by the recent move. {C)/
No error (D)

The director explained the theme (&)
and the concept of the (B)/international
folk festival .(C)/No error (D)

Residents have been planting the
ornamental trees (A)/outside their
homes and in lawns (B)/to add beauty
and give their place a grand look (C)/
Mo error (D)

The Government will soon make (A)
it mandatory for all private hospitals
(B)/to notify infectious cases as soon
as they are detected. (C)/No error (D)

The process of revising figures of
damage (A)/to get additional
compensation (B)/has began. (C)/
No error (D)

mast appropriate alternative fo fill in the blank
space in the given sentence.

166,

167.

168.

169.

170,

g S __nature would not let
him leave his office before 5 p.m.

(A} honest
(B) selfish
(C) crude
(D) cruel

An accomplice is a partner in
(A) business

(B) crime

(C) construction

(D) study

Too many skyscrapers the
view along the beach.

(A) reveal
(B) make
(C) obstruct
(D) clear

These are your new shoes, ?

(A) isn'tit
(B) isitso
(C) are they

(D) aren’t they

Iwish|__ sing as well as you do.
(A) can

(B) could

(C) do

(D) did




Directions (Qs. 171-175) : In the following
passage, at certain points you are given a
choice of four words in a bracket; one of
which fits the meaning of the passage.
Choose the best word from each bracket.
Select the letter (A), (B), (C) or (D) related to
their word as your answer,

Picasso is considered by many as the
greatest painter of the modern age. There
are stories and legends about him. Once, on
a beach in Southern France, a little boy,
obviously sent by his parents, approached
Picasso (171) a sheet of paper and begged
for a small autographed drawing. Picasso
(172} for a moment, then tore up the paper,
took (173) colour crayons, drew designs on
the boy's chest (174) neck and signed his
‘work' and sent the youngster (175) to his
parents.

171, (A) with (B) by
(C)on (D) of
172. (A) painted (B) thought
(C) stand (D) played
173. (A) back (B) aside
(C) some (D) send
174. (A)for (B) and
(C) at (D) but
175. (A) back (B) after
(C) against (D) across
Ax
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Directions (Qs. 176—180) : Fill in the blank
with an appropriate word(s) chosen from the

given alternatives.

176. Two trucks collided each

other near the market.
(A) into

(B) with

(C) on

(D) over

177. You must

your bad habits, if

you want to join us.

(A} give in

(B) give

(C) give away

(D) give up

178. The committee has to submit its report

six months.

(A) within

(B) during

(C) about

(D) until




B

179. It will take five minutes to walk I 2
the bridge,
(A) around
(B) about
(C) across
(D) through

180. There was some confusion
the agreement,

(A) around
(B) to

(C) on

(D) over

Directions (Qs. 181 — 183) : Choose the
alternative which is clos8st in meaning to the
given word.

181. MUTUAL
(A) separate
(B) common
(C) distrust
(D) agreement

182, PRINCIPAL

(A) axiom
(B) rule
(C) chief
(D) interest
183. TENDER
(A) gift
(B) accept
(C) resign
(D) offer

JDD-12/HC-FG/X-14

Directions (Qs. 184 — 186) : Choose the
alternative which is opposite in meaning to
the given word,

184. TIE
(A) link
(B) loosen
{C) knot
(D) fix

185. SPECIAL
(A) common
(B) cheap
(C) old
(D) peculiar

186. REFUSE
(A} arrive
(B) appear
(C) waste
(D) receive

Directions (Qs. 187&188) : In these
questions, four parts of a sentence are given
in sequence as (A), (B). (C) and (D). Point
out the choice which is not acceptable in
standard English.

187. (A)

(B) remain restless

Until you

(C) you cannot
(D) concentrate




188.

188,

190.

191.

{A) Passing by the damage house
(B)
(C)

(D) on my shoulder

a brick was dislodged

and fell

Point out the choice in which the word

is correctly spelt.
(A)
(B)
(C)
(D)

Confidance
Confidense
Confydence

Confidence

L
“He is a boy".

In the above sentence, name the part

of speech of the word “is”
(A)
(B)
(C)
(D)

varb
adverb
adjective

conjunction

The plural of “sheep” is
(A)
(B}
(C)
(D)

sheeps
sheepse
sheep

none of these

192,

183.

184.

185,

JDD-1 zJHc-px-ﬁ

The noun form of the adjective
"sharp” is

(A)
(B)
(©)
(D)

sharpness
sharpen
sharped

none of these

He is playing cricket.

The tense of the verb in the above
sentence is

(A)
(B)
(©)
(D)

Present perfect
Present indefinite
Present continuous
Past

A song has been sung by her.

The above sentence in the aclive
voice is

(A) She has sung a song

(B)
(©)
D)

She is singing a song
She sang a song
She had sung a song

The gender of TEACHER is
(A)
(B) masculine
(©)
(D)

feminine

common

nelter




Directions (Qs. 196 — 200) : Read the
passage given below and then answer
these questions based on it.

The prisoner awaited his chance. For three
solid years he had schemed for this
opportunity. Now that escape seemed so
near at hand, those three years lost some
of their monotony. But he would never forget
the lashes, the close confinement, low diet,
and worse still the mental strain of those
black days. Suddenly the warden did what
he had hoped. He stopped to unlock the
lower padlock. With a dull thud he slumped
forward with keys imhis hands. Swiftly the
prisoner seized his keys, unlocked the cell
and ran into the courtyard. It took him four
seconds to reach the rope-ladder secretly
placed there by his accomplices, five more
to clamber over the wall, and three more to
jump into the waiting car to be whisked
away to freedom. Even though he was
guilty, the prisoner felt he had paid for his
crime, for the man he had robbed three
years ago was still a millionaire.

196. Forwhat crime had the prisoner been
punished ?
(A) Murder
(B) Arson
(C) Robbery
(D) Kidnapping

1897,

198.

199

200.

JDD-12/HC-FG/X-14

When had the crime been committed 7

(A)
(B)
(C)
(D)

Just before the escape
Three years earlier
Leng ago

Day earlier

What did the prisoner suffer the most |

during imprisonment ?

(A)
(B)
(C)
(D)

Mental strain
Absence from his family
Physical torture

Foor health

Who secretly placed there the rope

ladder ?

(A)
(B)
(©)
(D)

Who slumped forward with a dull

Prisoner's relatives
Warden
Prisoner's accomplices

Sentry

4. . QIS

thud ?

(A)
(B)
(C)
(D)

The millionaire
The warden
The prisoner

The visitor
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15,

IMPORTANT INSTRUCTIONS TO CANDIDATES
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Ierfteani o oo wevargot s

This booklet contains 48 pages.

Please check all the pages of the Booklet
carefully. In case of any defect, please ask
the Invigitator for replacement of the booklet.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions, In each
case, you are required to select the one that
correctly answers the guestion or completes
the statement and blacken (@) appropriate
circle A, B, C or D by Blue / Black Ball-Point
Pen against the question concarned in the
Answer-Sheet. (For V.H. candidates
corresponding circle will be blackened
by the scribe)

. Mark your answer by shading the appropriate

circle against each question. The circle should be
shaded completely without leaving any space.
The correct method of shading is given below,

Vireng Mothod |fWong Mathod. | Wiang Meshod || Canes Memod
LD@DD 0¥00j0®00|0e0 0|

The Candidate mu‘st mark his/her response
after careful consideration.

There is only one correct answer o each
question. You should blacken (@) the circle
of the appropriate column, viz., A, B, C or D.
If you blacken (@) more than one circle
against any one question, the answer will be
treated as wrong. If you wish to cancel any
answer, you should completely eraze that black
mark in the circle in the Answer-sheet, and
then blacken the circle of revised response.

. A machine will read the coded information

in the OMR Answer-Sheet, In case the
information is incomplete/different from the
information given in the application form, the
candidature of such candidate will be treated
as cancelled.

- Use the space for rough wark given in the

Question Booklet only and not on the
Answer-Sheet.

. Youare NOT required to mark your answers

in this Booklet. All answers must be
indicated in the Answer-Sheet anly,

i
12,

13.

14.

15,

16.

17

18.
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Go through instructions given in Page No. 1 (Facing Page)
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